1. Use the values in the table to approximate ‘li’r_]!n_g_f‘(x)

x | -1.81 | -1.801 | -1.8001 -1.8 | -1.7999 | -1.799 -1.79
f(x)| 3.18 3.05 3.001 2.998 2.873 2.656
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2. Find lim i_?— numerically.
x-ANS x2 _ g
x | 2.9 2,93 |29 | 3 | 3.001 | 3.0y 3.1
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3. Find x-0 x-2 numerically.
X -1 -.01 -.001 0 .001 .01 A
f(x) | 2857 | 2. 985 | 3.999 4.002 | 4,615 | 4,158
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4. Find x- 'L‘Hs-f( ) numerically. a
X 2.9 2.99 3 | 3.01 3.1 3.9 3.99 4 4.01 41
f(x) | -3.968 | -3.992 -41 | -4121 |-2.978 | -2.999 5.993 | 5.92
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5. Find x—- ANS"' numerically.
X 2.9 2.99 3 3.01 3.1 3.9 3.99 4 4.01 4.1
f(x)| -.012 | -.004 -998 | -.989 |-2.978 | -2.999 5993 | 5.92
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6. Use the values in the table to approximate Imsf(x)
x |-1.01[-1.001| -1 | -0.99 | -999 | -.01 -.001 0 .001 .01
f(x) | 4.25 | 4.298 4298 | 4.38 | 5925 | 5.98 5.99 5.96
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7. Use the values in the table to approximate xlil;r?vsf(x)
S § 429 | 4299 (43| 431 | 4301 | -599 | -5999 | 6 6.001 6.01
f(x) | 3.015 | 3.001 2.989 | 2.975 | 3.975 | 3.999 3.998 3.975
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8. Make a table where x“?j () =aN3 and xlil};hf )= 2(4N5)
zﬁ; x | 4.9 9.79 | 4999 < S.08] | S 0] 5.0
&;Lf fix)| 3.612 | 3,000 | 3,00] $.997| 5.989 | S.98«
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